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General Instructions :

Question paper is divided into 4 sections.

It has total 18 questions.
Section A - 1 Question no. 1 to 1
Section B — 3 Questions no. 2 to 4
Section C - 4 Questions no. 5 to 8
Section D - 10 Questions no. 9 to 18

Attempt questions as per specific instructions.

Write question no. in answer book before attempting it.

TTHT=T [A59TT:

ST Fo797 Tedl; GUST: Gl |
ST Jo777 STSCTGT (18) Fo47: Tl |
Gue: ‘F’ - 1- JHTEETT 1
TUE: ‘G’ -3 - JTaEI 2 — 4
&Ug: ‘7’ 4 - FIIEEIr5 - 8

@us: ‘g’- 10 - FTTET 9 - 18
1aRRrse- [H33gaRr. 3¥41; GHIEe: |

IRYIETHIT TG §F GIIIH JITTEIT G |
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@Us: &
AUTSATI-ATATEA] 10 IgET:
AUFSATI Sraarer

Unseen Reading Comprehension

1.  ifaIRad Tane qfSedn YEauem ST &b foad :

frefafaa e =t gt fed gu Tl % I HEhd W faf :

Read the following passage and answer the given questions in Sanskrit :
TEhHaUTEe RAaYE g TIH-EH aftfd add | arayf: g sagf: | g
A oM A+ TG | ARAEERd:  SMYRYA  TUgAH, 9dd  — oI
ar 9 | 99 Tug fovar 9 ;| TS gl g W T | 9y ANy Ueh: U9
st | fafausnfay ageg=n: s vrd faef | 9 od ardvraaEn: |
$Y:, HAWEAT & THY:, qG STEHS ¢¥: YH: TR TRIIG AT | o
TR 9gRig SRt SISy vy STk HITH TfUaae | uar
T WRAd HERIeha T JERA T | o0, ATl Td TaHTa-TH
I AT FH: | AT TN FFqT: Towafa dg1 HHaar: TF TomT: Hiosald |

4T

(1) UHYSH I : (hadd THGIH)

T vise IR AR : (et 3 99)

Answer in one word : (Only two questions) 2x1=2
(1) Ry el v ?

(i) STEHTh hHI M TF ?

(iil) STEATTCHRAT 3TET <UL shiget THdfd: ?

(3M) YuiaTeRH 3T : (had Y¥GIH)
QUi TR 1 3T ST (had & TeH)

Answer in a complete sentence : (Only two questions) 2x2=4
(i) WRAEEERd: YR g o add ?

(i) ohGT TTHTH ¢IM: YH: T TRIUG TN ?

(i) <higem: ST wRd faaf 2

11-22 3 P.T.O.
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I AT fgheegrens (Tgfad) sies foraq |
39 =88 I al I 9 gl § If<a Mues Tl |

Write a suitable title for this passage in two or three words.

TG 3T : (hadd IITT)
FegER I G : (e o T9 )
Answer as directed : (Only three questions)
@ o 3t veE foorag fre
(A) W
(B) MERYH,
(C) WRAIEEh:
(D) 3f&d
(i) ‘<@’ 3fd ugw fohamaeq fua :
(A) 3fed
(B) FH:
(C) Tl
(D) FY:
(iii) ‘Terfuqar fd frames sue foga
(A) ST
(B) u§t
(C) T
(D) TR
(iv) ‘Fwg:’ 3fq gee fomeieven o f sy 2
(A) e
(B) I
(C) df:
(D) SHO=T:

Ix1=1

3x1=3



wvs: ‘@
TR -RIEH 15 3IgT:
TATCHS T
Writing Skills
2. YAM/vad SUEETE Sid STy fiad 96, gesw-eeres:
fheemgld sheal o gH: foEq |
YRR i 3Te8 I A0S WM o e foe T oo # #Jee # fou
U S1G] Shi TEEAT O Tk TAMT i qid ek TH-TF i IH: T |

In an application written to the Principal for a good character certificate,

you need to fill in the blanks with the help of the words given in the box
below and rewrite the same. 1 0><§ =5
EEL|

N

(1) ,
EIEICIRE

o
M ey fqgmed:, 99 foeet,

(i1)

3 Giae Teef® aq a9 wlen-aiond: (i)

SITd: | 3718 GIESTehed T goasiita: fasrad (iv) T IefvteT |
grgfd SaehheEM  Jouned T ETTHTE (v) Fad |
P HEH (vi) YeE (vii) ___ FdAg | W
HeTfaene™ B (viii) gAY: W | AME Taq TS
(ix) TR |

PRI H

Had: ﬁw:/ﬂa?ﬁm farsam
feme (x) |
HesT

HEIGAT:, STEvIehdl, HaTA, 3IgHMNG:, TATAIHUTY, e,
M5, TAH: /AT, &, FEHH |
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3. (%) WHVI-UGTRECHI HERAAT ALITARIARE] ARl Fheemr i e

HAl RGH forea -
ol ¥ fed U sreel St dgEar @ e foEt s § e T 9
HAT RGE fateT .
Complete the blanks of the following short story, with the help of
the words given in the box below and rewrite the same : 1 OXE =5
RIS IS ER N6 W TR T | d Ty T
(ii) T | 9 Tofia: Saaus: (i) | Tehal
HfTag =Y: T ARG | I: IFTH (iv) ST St |
AR = (v) ___ fquld | dvga™ (vi) I S
SISl Sgl: 3A¥E | 99 saran: i (vii) g 3gdad | d
STl ficdl et (viii) uE FSd | | dWl
(ix) e | feoaes: Sem. (x) | @ fg s
Hhl: HAHI |

woa

fewase, fiem, walgy, ofy:, fosnagy:, Afearem, a4fd =,
SITeH, 3Teh=d, AUGETshur |

HAYAT

(@) AGIIRgq-gare Nre T I ¢
frfafaa garg o ok Tom 9fte .

Fill in the blanks in the following conversation : 5x1=5

FIHT; — Toh THNY Afgeh | 3TEHTh I G TohH TR |

TmHl — () |
GIBIT: — FIHHH AT USSR T | 3T STNeCE
31l & ?

11-22 6



TlgeEl  — (i) |

FIHT: — WY | 3 T4 FSeT: I TF FHaaf ¥ | 9Rd AW oA
Al HO*SIICI‘-I\?

TGl — (iii) |

FFHT: — MY W AT T ROMCI TA: Ishadi Ul Wa:
I | Th: I AU Wa: I | 9 F T

~

AT ?

TZH  — (iv) |

FIHT: — M MY | IR SIS I TH: I | THeEtare=
g %: T4 TadH ?

TG — (v) |

FIFT: — AW | AEHUE g 9 Aihgeeh SIAREAl: EaT hal |

ageIEyr-d TH: a4 3Mcar TEU geal 9 e

gidfHad: I |
4.  AGTARGAATRIY HUSEH USRI TEhdd JTATG Hed

fFrefcfiad amei # 9 fohegl ut=r JTerRil 1 |&ehd | ITATG T

Translate any five sentences in Sanskrit from the following sentences : 5x1=5

i) 9 319 fUar o @1y g A g |
The son goes to the village with his father.
(i) 7 % gEI AR IAE |

There are trees on both sides of the river.

Gii)  @far gfafeq faemas St 2

Sarita goes to school everyday.

(iv) STcTh hell | Tl Td 8 |

The boys sing shlokas in class.

11-22 7 P.T.O.
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(v) BH 99 ¥HU & U =g T o |

We all went to Chandigarh for excursion.

(vi) Teoum et S} SEt |

Divya will go to Varanasi tomorrow.

(vii) ohi-ehT o TUQT 3T&AHH B |

Kanika’s father is a teacher.

Qus: ar

AT H-SATHIUTY 20 SIZT:

ATIIh-SATHIUT
Applied Grammar

ARG WTgd-UgHT af-ase af-d a1 $od : (JTINh haetq )
fafafea sl 4 WEifehd wel &1 wfu-fo=se stwen @f Hifvw .

(ha B: TH)

Disjoin or join sandhis in the underlined words of the following
sentences : (Only six questions) :

(i) I HIsTY STaehm: |

(i) ~ TQm8 e + AU Ta: |

(ifi) ~dfchATT TA=S TS |

(v) wa: TEeiy frezmmor: |

(v)  dgaq gavifig T wfd Trem |

(vi) UG |
(vil) =Ty fer S qiferdam |

6x1=6
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N e ~ Y oI ~ N
FifAfgqarey  @ifgd Ugqm  3fud  Tmeque foug a1 Jedfaeheds:

o haN >
eHd : (Shad TIU=IhH )

feferfad arern ° T@iferd 9ei o1 3fd gued ge 1 3fua faurg =61 yed foashe

& 9 ; (e ot )

Select the appropriate expound from the given choices for the

underlined words THEUE or TaUE of the following sentences

(Only five questions)

(1)

(i1)

(iii)

(iv)

STCIAT: EHhTT: ;|
(A) & Aq

(B) + qam:

(C) <&

(D) A& RETq

M | St |

(A) gt Hra:
(B) = Hra:

~

q

(C) AT HIAl I8 9: qcaeegl
(D) gfwEm: Ara:

REIHIg! afddet Bt dneea: |

(A) i =i,

(B) F¥: 9i: I F: 7,
(C) o 7Y

(D) FATUMTH SO FHTEN:

H: T a3 qeifd sagisafd |

(A) I 3y

~

o~

(B) 3furaq sHfdshe
(C) 3ferd e
(D) 3 qga

5x1=5

P.T.O.



(v) TaEHd e fUall = awrerig wirsre: |
(A) =@ = foar =
(B) Wig: @ fuq: =
(©) Toar = fuar =
(D) w= ==

(vi) 91 wiosgamof fem gout faeamee: g |
(A) To=emYy 9gm I= 4

(B) fo=sm: =@ agT: =

(C) Toeam™y sHfaHh=

o

(D) Ta=srA IgH =:
(vil) SeATEq T 9IEET Jad |

(A)  TRUIGHH

(B) TRUICHE

(C) TRedTeH,

(D) TRUIcH

7.  SAURgqaERy W@iigddeHl dgfad A OWTeia a1 Sehid-Seaem
yed-fasheu: faqd : (haet TevesHy)
frafcfad IRl # {@iferd UGl o IUYTh TYH AT TI¥h Jh{d-Scd™ AN i
feu gu fashedt o & 9w @ (ot ©: yw)

From the given choices, choose the correct combination of joint or disjoint
set of suffix for the underlined words in the following sentences :
(Only six questions) 6x1=6
() poTergRd Ta: |

(A) TH + od

(B) TH + Fdq

(C) TH + d=uq

(D) TH + R

11-22 10



i) Frufsst: a1 7d g + o= + sFaq |
(A) TdEH
(B) ®ddm,
(C) BINdaM,
(D) giaH,

(i) THgIsE swar g |
(A) ¥ + Hqq
(B) oA + &ddq
(C) o + dq
(D) & + ds3q,

(iv) dare Sfteq 31T 7a: |
(A) S+ 3q
(B) S + WM
(C) Sfid + o
(D) S + qeAq.

(v) W3 Hgely g |
(A) 3131 + gy
(B) Treg + s
(C) Treg + aqq
(D) TiEg + 3

(vi) TSIAR + 19 FfeRn FHomar ST |
(A)  TSIHART
(B) Tlf“l_gw'_‘zl'l'é:
(C) TSIHHTR
(D)  TSIFHHOI,

11-22 11 P.T.O.
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(vii) A F-EALAAH Alehed foh swef=d ?
(A) T&HUH + a9
(B) ETEHH + dq]
(C) TN + Fdaq
(D) EEHH +

8.  ugfuay 3yue-faufred faga | (Faet gy
STIh IUue-faufth &9 1 AT | (haat o T9)

Choose the appropriate subordinate clause form. (Only three questions) 3x1=3

(i) T ymicaey |
(A)  HIAR
(B) HIeH
(C) AT
(D) pIeH

Gi) ®!fom_
(A) ITHIq

~

(B) 3IHHH

~

(C) 3IIHWY

~

(D) 3TEHTHH
(iii) HERN fRee= I3 fIEr g8 |
(A) 3T
(B) M
(C) A=
(D) AR
(iv) fTRwead: _ srfusca T wfoay 2
(A) HH
(B) 3@H
(C) HaH

~

(D) HH

11-22 12
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Qus: 9’
(i) ufearasneTq
qiea-sraaied

Reading Comprehension

ARG T lScal TEHTHAM, T HEeha IR

freafetfiga Temsr =l gt 38 WX IMUTRA Al o IR T%hd H N :

25 JFT:

Read the following prose passage and answer the questions based on
them in Sanskrit :

ATgedt e | fuqeat wa | semieal wa | sifaferqar wa | A serRnt i,

T BfdeaT, T SaUfT | Ik gaiar aie e, T gaqrr |
1Y AT FHAfAReaT a1 JaTdiched] a1 TIq | ¥ T SIE0M: FEHIRM:, IR
ST, GET: GHBML: :, IAT d OF Tt a2l aF Ja9n: | TY e | T

3YCI: | TNT IS |
q9qT:
(1) UHYSH I : (hadd IHGIH)

Teh Y6g § 3T ST : (Shaed & I9)

Answer in one word : (Only two questions)

() T9a1 %: wa ?

(i) gaufor (Feafq) ifa 7 afaqents 2

(iii) ST <hT ?

qUiATeRI ITRA @ (Shadt JegIH)

U TR H I S ; (ohad & )

Answer in a complete sentence : (Only two questions)
(i) ST shigem: & ?

(i)  hIgRIT AT HidqeaT ?

o~

(iii) oRTH cagrEATg 2

JYTEIM 3T : (Shaed TG
frcemgER 3w T (SFea q T

Answer as directed : (Only two questions)
() ‘aaw sfa s wug foh 2

(i) ‘IO 3fd 9g&T fomivorg foq ?

(i) ey’ s age fodaad o 2

13

2x1=2

2x1=2

P.T.O.
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AYITIRad Te ufdcal TEETRaH T H8hd- 3T
frafcfad ae i 9t 30 T TG T & I T&hd | ST

Read the following poetry and answer the questions based on them in
Sanskrit : 5

Z[Uﬁf[ﬂiéﬁ:{aﬁﬁ'ﬁm:,
Selt o dfd 7 dfd Fee: |
fUen! g@=a%g U1 1 9,
w1 =9 g 9a 9 queh: ||

(1) UhYeH I : (hadd T¥HGIH)
Ush Yeg U 3T ST : (Shaed g T9)
Answer in one word : (Only two questions) 2x—=1
(i) Toit & afd ?
(i) TUeh: T TOT AT ?
(i) Teie: & 7 R 2

(M) oA ITRA : (had TgIH)
o A 3 AR ; (e 3 )
Answer in a complete sentence : (Only two questions) 2x1=2
() foee ad *: 9 JHd 2
(ii) o= 9 &: SIEIA ?
(iii) ITEE: B IO 7 JHT( ?

(3) Iufdym 3@ : (hadd I3gIH)
feaTgam ST & (heret 1 9w)

Answer as directed : (Only two questions) 2x1=2

i) ‘R 3fd deEd qERTg T ?
i) ‘Fea:’ 3fd ee fauiag fay 2
(i) of’ sfa hefaee framug form 2

14
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ARG ST IfSeal TETETHAH T HEehd I

frfiRaa Teamer =1 gt 36 W IMYTRG TRAT o I THha | T :

Read the following part of a drama and answer the questions based on it
in Sanskrit : 5

TgreTaT — (®facan) dfg IHf=d @ Igg g faargered wiieg 1 3ot |

FUEAT — Tob ST qar ?

TETeTaT — SEraTieHt Aiasy | =it 9 e e Sfiaenen ety |

PUSAT — AW AR FALR-E AL = | T AT A TghRAaead add
T ST hAY gty 3TUeTd J: a6l Taaed &1 |

TETTET — TEd Heehd SISl AT e | T guel Sfiaquy Ifagag =
HETMY Fgd: kg Ry |

PUSHT — AT TGN TehIfh T |

mererar — (fagwa) afc & foma gfaTs SIS qQ1 Teptiohl wiosay o
Ueh: 34TY: iy fafa: 73 |

PUST — h: 3UM: ?

TETTET — TEIa Aifgcd-ATedie sl @ foum sge: fger g
TerEH |

94T

(1) UHYH I : (hadd THGIH)
Ush Yeg U I ST : (Shaet g I9)
Answer in one word : (Only two questions) 2x—=1
(i) WTET &1 Wiasafd ?
(i) AT Y T ?

(iii) TETAHT hed AEIThdl 7 WA ?

(3T) qUiETRA ITRA : (had T¥EIH)
QU1 ST H I T ¢ (Sheret &1 )
Answer in a complete sentence : (Only two questions) 2x1=2
(i) TEH giical TiCaTaiayy Husal Uid foh Hfd ?
(i) HSrE! =R 9g 9T foh shivsafa 2
(iii) TR S g everd 2
15 P.T.O.
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(3)

JYTHEIM 3T : (Shaed TG
fIETgaR ST AT : (Fad &1 T9)

Answer as directed : (Only two questions) 2x1=2

() ‘frsate’ $fa fRamaeer squg foh S 2

(i) ‘wgra:’ sfd fasivudes foRrsgg fey 2

(iil) “oT8Y 7 HEAMY TSohd: Alag IRATY 7 JT 3Tgq’ i FA-HIG
FE I ?

IITANGT T Taef ToquTiga-Sree: QR 4A: for@d

frfetRad wer b1 wrane weu § fou T wreet & Wik H: fofem

Rewrite the gist of the following verse by filling it with the help of
the words given in the box : 3x1=3

AR TYHME, AATCIHTEAT |
epfecterurey, ferdia safeemr ||

rae:
HiftEe T () feua geple: @@t | (i)
FYf=s-dl fafd: 39 | (ii) 3fed |

HS[uT
d, TEahAEd, gieerT |

Fuat (OR)

JEAHTATAT g Hrane e for@d :
fou gu = wranerf # € g wrened e fofE

Write the correct essence from three essences of the following each
part :

(31) ‘FmTEATE! IeTEwRganE |
(i) 7 STIAMERA AT g ThHYHHT e ThR |
(i)  STAMER IMHAT IGET I |
(i) EITEhT IMfad TR ferdem |
16




(3m) ‘g ge wiiferaishy

() HIT @ ey |

(i) o 99 9hen KUY |

(iii) 378 Td HiSTRIE HaaH |
(3) ‘semediquty o wiasafq e |\’

(i) TH 9%d UqHT GREfed, T 3 STAMIHRAN g9y 378 ey |
(i) 3¢ 9% HHTET T 7H T ©I1q |

(iii) 3eAfEd 3fd faaRicar Hisfy F=gse: 7 wafq |

13. AIARIA-IARE Ted 31T Rehed M1 HosuTied-¥TeaMl Heraal IId
frefafigd woiieh o fod gu st | Tk T < gfd s # fou q wreqi
TR ¥ I
The prose-order rendering of the following verse is given. Fill in the

blanks with the help of words given in the box : 3x1=3

TN &Nfq: o, FEHI SET |
I TS IIATH, TTAThIvIHEna: ||

T
FT N (1) LA & AT (i)
ITAThIO 39 (iii) TR |
HosTHT
T, SFENR:, 3G |

11-22 17 P.T.O.



14, F T Il @ WIS IUYhATR: 98 T $ed |
® T % I B @ T o IYH a1l oh a1 A Hif |
Match the sentences of column ‘%’ with suitable sentences of column
ol 4><é ~2
‘h’ Tary: G’ Eqry:
i, SyalisgHg Wi 1. 4 o IRt |
i, oMY gar: vt 2. Tugisg soraq g |
iii. fooma: wafag s 3. oW wElifaEmn |
iv.  IRIY §H T agEdt 4, Tl mAwgfsaETy |

15. AfIRgqary {@iigd-qgHT SaEHER IgH 1 Aesmma: foean foreq :
frfaiRaa STl § T@iiehd g1 1 JHTHAR g 31 Touil | AL foTiay

Choose and write the appropriate meanings of the underlined words in
the following sentences with the help of the words given in the box : 4><i =2

2
()  3fg o wufataferer ar |
(i) Ufeaed el QBT ggEay |
(iil) AW AT G fHawTyom |
(iv) g meree foufua: wam gemerm-ae: |

(i) HEFAATECAET HHTAT R 10 SigT:
HEha ATEed T ATHT e

General Introduction to Sanskrit Literature

16. AUTARIAITAHH TN @ : (haed T
ffaRad sl & W faRau : (e dF =)

Answer the following questions : (Only three questions) 3x1=3
(i) TR T TTAT YA ST UTSET HegHIRY: o ?

11-22 18




(i)  HAgTEg MA@ TE®: h: ?
(i) “ATeTET YIS TARGehT o ?
(iv) ‘Tretsasey sfa e AR &: ?

17. AN YEORTegHT e fhee iy e fofea | (shaa Jeeem)
T § R ™ wegl f wemar @ fk wEl Al gfd e fafew |
(haet A I9)

Fill in the blanks with the help of the words given in the box.
(Only three questions) 3xI1=3

() ATl AR wafd |

(i) ‘el 3fd T/ oigeh: Afeq |

(iii) S-eRigdl T HId |

(iv)  hifergred Ued ‘Hegad atfeq |
RESL

TTeH, dUHg:, WYUShIcTH, I |

18. gfud Herdd :

e firem £ -

Match properly : 4x1=4

1. SR CINEISE |

TR ILONIE= e TgTehfel: WTH:

iii,  CHhE UHY ITEH
iv. EIhAThR:

L e

11-22 19



